ik (L)

—.1.—J

2.3

3.4 4

4. 16

5.14

6.0 @

7. 16
Z.Jdx 2x 3V 4x 5V 6x
=.1.C 2B 3A 4A 5C 6A
IS
F. 1. 18+25+13=56( 2 %)

28+35+23+50=136( B X )

2,18 JHK 24 JHK 540Kk 8K
751 (24+418)x2=84( B &)

2. (14+12)x2=52(n k)

5442=54( k)

3. 9x4=36( 2K ) im& s

4. (12+8)x2=40( 2 £ )

5. 48+4=12( 2K ), (48+12)x2=120( 2 X )
BEa

VeIt ag 4 47 5 9108 5 47 4 54 BRI R0 AE T /b

2x5=10( 4 &)

2x4=8( 4K )

(10+8)x2=36(2 % )

MitE ()
—.1.2 3
2.400 384
3.2 1
4. 1506 576
5. = < >
6. 540

ZJ0V 2x 3x 4V 5V
=.1B 2A 3C 4C 5B
MM.1.280 84 2500 28 99 840 500 O 900
2. W
3.430 1250 981
4.36 3570 296
. 1. 865x8=6920( & )
2. 128x4=512(7.),512 7£>500 7T, A
3. 39x2x3=234(#%)

=FERHF

4. 212x4+50=898( 2 %)
5. (D (2%
(3)612x8=4896( K ) 128x5=640( &)
4896+640=5536( £ )

i
o
&

[4] 5 [2] [41[0][7]
7 9

X

31 [6] 4

X

3[6] 6 3

Wik# ()

—.1.7 4
2.29 182
3.4 30
4. B 8 HF R 2 6 30 40
9:45 16:40 22:50
5.2 29
6. 4 51 30 43
Jdx 2x 3V o4V 5x
=.1.A 2C 3B 4B 5B
M. 1.
2. P4 1990 & 1900 4
41864 4F 1944 4F
2400 4F 2160 4
F.1.13:00 23 BF354F 25F 5K 22 B 50 43
2. W
7<.1.10:20 13:20 16:20
2. (1)5BF 10 B 30 43
(2)8 i} 30 4
(3)h%
3.31-5+1=27(X) 31+27=58(X)
4.7:26 F| 7:35 %3 9 43,60x9=540( K )
5. ARXT2012 4 2 A4 29 K,29+16=45( K)o/
JEH/INGRI H 4: 45 K
6. 11 13 HM11 H25H
BEH
3H 31 HF4 60
ik (+)
7765 1645

i b 9 B} 45 43

2000 &4 1968 4

19:20

—.1.20C8 1 26 JC 9 £
2.11.00 5.50

3. N IE

EI3M(£4M)

m

Gl

7N

4.10.28 13.13

5.809 102 5 3 4
6.< > < < = >
7.41.5

Jdx 2V 3.x 4x 5x 6x
JA 2C 3B 4B 5A 6.C

.07 44 1776 32 1 027G
2.62 318 217 35 62 200
1.(1)42000 4.0270 24070 2.04 96
(2)048 3t 0.84JC 4.80 G 8.40 JC
2. T T
26.4 36.7
- 5.3 + 5.4
21.1 42 .1

<. 1. 5-1.2=3.8(7)

2. 7.6+2.8=10.4(T.)
3. (1)3.943.5=7.4(70.)
(2)7.4 JC>7 JC
3.8 JL>3 JC
7.4 J6+3.8 JC>10 JC
KA
4. (1) B BRFNES Ltk 1
(2)9.4-2.5=6.9(T.)

BE

m

A=3,B=6,C=4
ik (+—)

.28 4 2

2.0

3. 10

4.72 0.64 4.12

50 < = < > >

6.30 6 (13+17)+5=6

7.4 16

8.6

J.C 2.C 3A 4B 5A 6B

.1.2800 309 100 11 1505

72
2.45 87 57 86l
3.5 682 643

1500 210 O

1300 2015

Y
604

- 388 -
216

406
X 5
2030

Dfw o
ol o B

=FRHF

2. %
75, 1. 400x8=3200( F %)
2.3.3+0.2-0.7=2.8( %)

3. 55x8=440( 7. ), 440 T5<450 TG, K 145

4. (6+3)x2=18(K) 6+3x2=12(XK)
5. 480+520=1000( % )
BEA
: 8 AN/INITAC, 38 3R
: Wik (+=)
—.1.30 30 31
2.0 bR
3.1.37
4.26 78
50> < < = > <
6.17 23
—J0V 2V 3V o 4x 5x
=.1B 2A 3C 4A 5B 6B
M.1.69 20 1800 34 60 200 11
2.856 3370 0.5C
3.963 279 495 22 864 335

2. 3+4+5+4=16( k)
(6+3+1)x2=20( %)
(6+7)x2=26( k)

75, 1. 108x6+112=760( 4+ )
2. (100-7)+3=31(T)
3.20:10
4. 752-365+208=595(A)
5.(1)8.5-4.8=3.7(1)

(2)10-6.9=3.1(7%.)
4.8-3.1=1.7(7%.)

6. (DTATH (261

BEH

. 3x10=30(2 &) 10x1=10( 2K )

! (30+10)x2=80( B % )

SN —— b

E4T(£4 W)



